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Foundation Tier

Question Key
A allows the player to hear the spectators 1
o B allows the player to see the basket 4
ne
C allows the player to detect smells in the arena 3
D allows the player to feel the ball 2
A cannabis 1
B cocaine 4
Two
C ecstasy 3
D heroin 2
A blood 2
B heart 3
Three
C joints 4
D liver 1
A 30 4
B 39 2
Four
C 60 1
D 72 3
A energy 2
. B enzymes 3
Five
C mass 4
D sweat 1
A B C D
Six 4 1 1 2
Seven 1 3 1 4
Eight 3 4 4 1
Nine 3 1 1 2
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Higher Tier
Question Key
A energy 2
One B enzymes 3
C mass 4
D sweat 1
Two This question has been removed because of a problem with the answer sheet.
A B Cc D
Three 3 4 4 1
Four 3 1 1 2
Five 4 4 3 2
Six 4 3 4 4
Seven 2 1 4 3
Eight 4 2 3 4
2 4 4 2

Nine
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> Instructions on how to complete this answer sheet are given on the question paper. Please make sure you follow them carefully.‘

Questions ONE to NINE Choose one response 1 - 4 for each of the parts A - D

s QUESTION ONE 1 2 3 4)
1A energy (@ of e e R
1B enzymes O o 0 ©
1C mass 0 © 0 k’:o:
\‘ID sweat o 0O © oj .
QUESTION TWO 1 2 3 4)
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/" QUESTION SIX ) " QUESTION SEVEN ) " QUESTION EIGHT )
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> I‘ns‘tru‘ctiohs‘ on how o cbmplela this answer sheet are given on the question paper. Please maké suré ybu follomi them carafmly.{

Questions ONE to NINE Choose one response 1 -4 for each of the parts A-D

Lo.d -

QUESTION ONE 1 2 3 4
1A allows the player to hear the spectators OO RO RS O
1B allows the player to see the basket o 0O O ©
1C allows the player to detect smells in the arena R0
1D allows the player to feel the ball : © 0o 0 o
QUESTION TWO 1 2 3 4)
2A cannabis OFEORHOIT0
2B cocaine o O © O
2C ecstasy CHIOLROZ=0
2D heroin o 0 O O
QUESTION THREE 1 2 3 4
3a blood SLSHRORD
3B heart o o0 o0 0
3c Jjoints O oS 00
liver : \ J
\?D O 0 0 OJ
QUESTION FOUR 1 2 3 4
4A 30 O SORE O )
4B 39 O O O ©
4C 60 OIS TONROR 0
4D 72 O 0O 0 ©
QUESTION FIVE 1 2 3 4°
A energy O OO R0
5B enzymes O 0 0 0
5C mass a0 e Ot
5D sweat o O C 0O
QUESTION SIX QUESTION SEVEN ) " QUESTION EIGHT
1 2 3 4 1 2 3 4 1 2 3 4
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6B o .0 o © 7B o o o © 8B o o o o0
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QUESTION NINE
1 2 3 4
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